fmmm AT B S AN EX

BE:FF, EMMRIR: F1, L&: [C:4,Y3:6], R:256.9cm *265.2cm, EE: 40 cm
#6 T REAIXE= ((256.90-[1% EE]7.5*2)+[E I H0 [ 1= K Lg]140+[$H EA1]26.4*2)*(Int((265.19-7.5*2)/10)+1)/100= 76.63 M
#6 TREAY M= ((265.19-[1REE]7.5%2)+[BIZH]0 =R Lg|140++[$H EA1]26.4*2)*(Int((256.90-7.5*2)/10)+1)/100= 75.76

M
#5 EEEIXE = ((256.90-[{RE[B]7.5"2)+[{E R0 {2 R Lg]78+[#H EA1]21.92)*(Int((265.19-7.5%2)/10)+1)/100= 74.26 M
?5 L@?Yﬁ: ((265.19-[{REE]7.5"2)+[{ Z 0 [ E R Lg]78+[#H EA1]21.9*2)*(Int((256.90-7.5%2)/10)+1)/100= 73.47 M
R AR ETE:
EAR(RE RIMEERT)= (256.90+265.19)*2*[E MR E]40/10000=4.18 M2
EEREERNR(REER S ER]
1 {14 [C9](50+50)*2*[E]140/10000=0.80 M2
BA E A /NFT:0.80 M2
8RR /NET:4.18-0.80= 3.38 M2
RC:HE:
RC = (256.8983*265.1856)*40/1000000=2.725 M3
REFEARCHIRIEAERER DT EIR]
1 :3#ERC:[C9](50*50)*[/F]40/1000000=0.100 M3
L E$0#ERC/MET:0.1000 M3
RC/N5t:2.725-[ERCH1]0.100+[ L 3 $# 7£]0.000=2.625 M3
-------------- EIRCE TNy S——
WAt E AR
#5=147.731 M (147.731 M*1.560/1000= 0.2305 T)
#6=152.393 M (152.393 M*2.250/1000= 0.3429 T)
A/ NET =0.5733 T
RN =4.18 M2
RSN =2.625 M3
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